Fixed point theorems in Banach spaces using three steps iteration

D.P. Shukla¹ and Vivek Tiwari²

Department of Mathematics & computer science ¹Govt. Science College Rewa (M.P.) 486001, India ²Shard Mahavidyalya, Sarlanagar Maihar (M.P.) 485772 Affiliated to A.P.S. University, Rewa (M.P.) 486003, India

Abstract: Suppose K is a nonempty closed convex nonexpansive retract of real uniformly convex Banach space E with P as a nonexpansive retraction. Let T: $K \rightarrow E$ be a nonexpansive non-self map with $F(T) = \{x \in K : Tx = x\} \neq \phi$. suppose $\{x_n\}$ is generated iteratively by

$$x_1 \in K, x_{n+1} = P((1 - \alpha_n)x_n + \alpha_n TP[(1 - \beta_n)x_n + \beta_n Tx_n]),$$

 $n \ge 1$ Where $\{\alpha_n\}$ and $\{\beta_n\}$ are real sequences $[\varepsilon, 1-\varepsilon]$ for some $\varepsilon \in (0,1)$. (1) If the dual E^* of E has the

Kadec-Klee property, then weak convergence of $\{x_n\}$ to some $x^* \in F(T)$ is proved. (2) If T satisfies condition

(A), then strong convergence of $\{x_n\}$ to some $x^* \in F(T)$ is obtained.

MCS: 47H09, 47J25 Keywords: Nonexpansive non-self map, Demiclosed map, Kadec-Klee property, Strong convergence.

I. Introduction

Let K be a nonempty subset of a real normed linear space E. Let T be a self-mapping of K. Then T is said to be nonexpansive if

 $\|Tx - Ty\| \le \|x - y\|$ For all x, y \in K (1.1)

Definition 1.1:

Let X be a real Banach space. A subset K of X is said to be a retract of X if there exists a continuous map P: $X \rightarrow K$ such that Px = x for all $x \in K$. A map P: $X \rightarrow X$ is said to be a retraction if $P^2 = P$. It follows that if P is real retraction map, then Py = y for all y in the range of P.

Let K be a monempty convex subset of X and T: $K \to K$. For $x_i \in K$ and some $\{\alpha_n\}, \{\beta_n\} \{\gamma_n\} \subseteq [0,1]$.

The Mann iteration formula is given as

$$x_{n+1} = (1 - \alpha_n)x_n + \alpha_n T x_n \qquad n \ge 1$$

The Ishikawa iterative scheme is defined by

$$x_{n+1} = (1 - \alpha_n)x_n + \alpha_n Ty_n$$

$$y_n = (1 - \beta_n)x_n + \beta_n Tx_n \qquad n \ge 1$$

The three step Noor iteration scheme is defined by

$$x_{n+1} = (1 - \alpha_n)x_n + \alpha_n Ty_n$$

$$y_n = (1 - \beta_n)x_n + \beta_n Tz_n$$

$$z_n = (1 - \gamma_n)x_n + \gamma_n Tx_n$$

Iterative techniques for approximating fixed points of nonexpansive mappings have been studied by various authors (see e.g. [5, 13, 15, 17] using the Mann iteration method (see e.g. [10]) or the Ishikawa iteration method (see e.g. [6]) and Noor [18].

In [15], Tan and Xu introduced a modified Ishikawa process to approximate fixed points of nonexpansive mapping defined on nonempty closed convex bounded subsets of a uniformly convex Banach space E. More precisely, they proved the following theorem.

Theorem XU (Tan and Xu[15, Theorem1, p. 305] Let E be a uniformly convex Banach space which satisfies Opial's condition or has a Fréchet differentiable norm and K a monempty closed convex bounded subset of E.

Let T: K \rightarrow K be a nonexpansive mapping. Let T: K \rightarrow K be a nonexpansive mapping. Let { α_n } and { β_n } be real sequences in [0, 1], such that $\sum_{n=1}^{\infty} \alpha_n (1-\alpha_n) = \infty$, $\sum_{n=1}^{\infty} \beta_n (1-\alpha_n) < \infty$ and $\lim \sup_{n \to \infty} \beta_n < 1$. Then the

sequence $\{x_n\}$ generated from arbitrary $x_1 \in K$ by

(1.2)

 $x_{n+1} = (1 - \alpha_n)x_n + \alpha_n T[(1 - \beta_n)x_n + \beta_n T x_n]), n \ge 1$ Converges weakly to some fixed point of T. In the above result, T remains self-mapping of a nonempty closed convex subset K of a uniformly convex Banach space. If, however, the domain K of T is a proper subset of E (and this is the case in several applications), and T maps K into E then, the iteration formula (1.2) may fail to be well defined.

The purpose of this paper is to construct an iteration scheme for approximation a fixed point of nonexpansive non-self maps (when such a fixed point exists) and to prove some strong and weak convergence theorems for such maps. Our theorems improve and generalize some previous results. Our weak convergence result applies not only to L^{p} - spaces with 1 but also to other spaces which do not satisfy Opial's condition or have aFrechet differentiable norm. More precisely, we prove weak convergence of the modified Ishikawa-type iteration process in a uniformly convex Banach space whose dual has the Kadec- Klee property. It is worth mentioning that there are uniformly convex Banach spaces, which have neither a Frechat differentiable norm nor Opial property; however, their dual does have the Kadec-Klee property (see, e.g., [4,7]).

II. **Preliminaries**

Let E be a real Banach space. A subset K of E is said to b a retrct of E if there exists a continuous map P: E \rightarrow K such that P_x = x for all x \in K. A map P: E \rightarrow E is said to be retraction if P² = P. If follows that if a map P is a retraction, then Py = y for all y in the range of P. A set K is optimal if each point outside K can be moved to be closer to all points of K. It is well know (e.g., [2]) that

- (1) If E is a separable, strictly convex, smooth, reflexive Banach space and if $K \subset E$ an optimal set with interior, then K is is a nonexpansive rectrct of E.
- (2) A subset of l_p , with 1 , is a nonexpansive tetract if and only if it is optional.

Note that every nonexpansive retract is optimal. In strictly convex Banach spaces, optimal sets are closed and combex. However, every closed convex subset of a Hilbert space is optimal and also a nonexpansive retracts

A mapping T with domain D(T) and range R(T) in E is said to be semiclosed at p if whenever $\{x_n\}$ is a sequence in D(T) such that $\{x_n\}$ converges weakly to $x^* \in D(T)$ and $\{Tx_n\}$ converges strongly to p, then $Tx^* = p$.

A Banach space E is said to have the Kadec-Klee property if for every sequences $\{x_n\}$ in E, $x_n \rightarrow x$ weakly and $||x_n|| \rightarrow ||x||$ strongly together imply $||x_n - x|| \rightarrow 0$.

In what follows, we shall make use of the following lemmas:

Lemma2.1 (Schu [12]) Let E be a uniformly convex Banach spaces and $\{\alpha_n\}$ a sequence in $[\varepsilon, 1-\varepsilon]$ for some $\varepsilon \in (0,1)$. Suppose $\{x_n\}$ and $\{y_n\}$ are sequences in E such that $\lim \sup_{n \to \infty} \|x_n\| \le r$, $\lim \sup_{n \to \infty} \|y_n\| \le r$, and $\lim \sup_{n \to \infty} \|\alpha_n x + (1 - \alpha_n) y_n\| = r$, hold for some $r \ge 0$. Then $\lim_{n\to\infty} ||x_n - y_n|| = 0$

Lemma 2.2 (Xu [16]) Let p >1 and R > 1 be two fixed numbers and E a Banach space. Then E is uniformly convex if and only if there exists a continous, strictly increasing and convex function g: $[0, \infty) \rightarrow [0, \infty)$ with

$$g(0) = 0 \text{ such that } \|\lambda x + (1 - \lambda)y\|^{p} \le \lambda \|x^{p}\| + (1 - \lambda)\|y\|^{p} - W_{p}(\lambda)_{g}(\|x - y\|)$$

For all x, y
$$\in B_{\mathbb{R}}(0) = \{x \in E : ||x|| \le R\}, and\lambda \in [0,1], where W_p(\lambda) = \lambda(1-\lambda)^p + \lambda^p(1-\lambda).$$

Lemma 2.3 (Tan and Xu [15]) Let $\{\lambda_n\}$ and $\{\sigma_n\}$ be sequences of nonnegative real numbers such that

 $\lambda_{n+1} \leq \lambda_n + \sigma_n, \forall n \geq 1 \text{ and } \sum_{n=1}^{\infty} \sigma_n < \infty. \text{ Then } \lim_{n \to \infty} \lambda_n \text{ exists. Moreover, if there exists a subsequence}$ $\{\lambda_{ni}\} \to 0$ as $j \to \infty$, then $\lambda_n \to 0$ as $n \to \infty$.

Lemma 2.4 (Kaczor [7] Let E be a real reflexive Banach space such that it's dual E^{*} has the Kadec-Klee property. Let $\{x_n\}$ be a bounded sequence in E and x^* , $y^* \in \mathcal{O}_{\omega}(x_n)$; here $\mathcal{O}_{\omega}(x_n)$ denotes the weak w-limit set of $\{x_n\}$. Suppose $\lim_{n\to\infty} ||tx_n + (1-t)x^* - y^*||$ exists for all $t \in [0,1]$. Then $x^* = y^*$.

Lemma 2.5 (Browder [1]) Let E be a uniformly convex Banach space, K a nonempty closed convex subset of E and T: $K \rightarrow E$ a nonexpansive mapping. Then I- T is semi closed at zero.

III. Main Results

In this section, we prove our main theorems.

Let K be a nonempty closed convex subset of a real uniformly convex Banach space E, which is also a nonexpansive retract of E. Let T: $K \rightarrow E$ be a nonexpansive mapping.

The following iteration scheme is studied:

$$x_{n+1} = P((1 - \alpha_n)x_n + \alpha_n TP[(1 - \beta_n)x_n] + \beta_n TP[(1 - \gamma_n)x_n + \gamma_n Tx_n]),$$
(3.1)

With $x_1 \in K$, $n \ge 1$ where $\{\alpha_n\}$ $\{\beta_n\}$ and $\{\gamma_n\}$ are sequences in [0, 1] and P is a nonexpansive retraction of E onto K.

Theorem 3.1 Let E be a real uniformly convex Banach space and K a nonempty closed convex subset of E which is also a nonexpansive retract of E. Let T: $K \to E$, be a nonexpansive mapping with $x^* \in F(T) = \{x \in K : Tx = x\}$. Let $\{\alpha_n\}$ and $\{\beta_n\}$ be sequences in $[\varepsilon, 1 - \varepsilon]$ for some $\varepsilon \in (0, 1)$ starting from arbitrary $x_1 \in K$, define the sequence $\{x_n\}$ by the recursion (3.1). Then $\lim_{n\to\infty} ||x_n - x^*||$ exits.

Proof: We observe that

$$\begin{aligned} \left\| x_{n+1} - x^* \right\| &= \left\| P((1 - \alpha_n) x_n + \alpha_n T y_n) - x^* \right\| \\ &\leq (1 - \alpha_n) \left\| x_n - x^* \right\| + \alpha_n \left\| P((1 - \beta_n) x_n + \beta_n T z_n) - x^* \right\| \\ &\leq (1 - \alpha_n) \left\| x_n - x^* \right\| + \alpha_n (1 - \beta_n) \left\| x_n - x^* \right\| + \alpha_n \beta_n \left\| T z_n - x^* \right\| \\ &\leq (1 - \alpha_n) \left\| x_n - x^* \right\| + \alpha_n (1 - \beta_n) \left\| x_n - x^* \right\| + \alpha_n \beta_n \left\| z_n - x^* \right\| \\ &\leq (1 - \alpha_n) \left\| x_n - x^* \right\| + \alpha_n (1 - \beta_n) \left\| x_n - x^* \right\| + \alpha_n \beta_n \left\| (1 - \gamma_n) x_n + \gamma_n T x_n - x^* \right\| \\ &\leq (1 - \alpha_n) \left\| x_n - x^* \right\| + \alpha_n (1 - \beta_n) \left\| x_n - x^* \right\| + \alpha_n \beta_n (1 - \gamma_n) \left\| x_n - x^* \right\| + \alpha_n \beta_n \gamma_n \left\| x_n - x^* \right\| \\ &= \left\| x_n - x \right\| \end{aligned}$$

Consequently, we have $||x_{n+1} - x^*|| \le ||x_1 - x^*||.$

This implies that $\{x_n\}$ is bounded and Lemma 2.3 guarantees that $\lim_{n\to\infty} ||x_n - x^*||$ exists. This completes the proof.

Theorem 3.2 Let E be a real uniformly convex Banach space and K a nonempty closed convex subset of E which is a also a nonexpansive retract of E. Let T: $K \to E$ be a nonexpansive mapping with $F(T) \neq \phi$. Let $\{\alpha_n\}, \{\beta_n\}$ and $\{\gamma_n\}$ be sequences in $[\mathcal{E}, 1 - \mathcal{E}]$ for some $\mathcal{E} \in (0, 1)$. From arbitrary $x_1 \in K$, define the sequence $\{x_n\}$ by the recursion (3.1). Then

$$\lim_{n \to \infty} \left\| x_n - T x_n \right\| = 0$$

Proof: Let $x^* \in F(T)$. then, by theorm 3.1, $\lim_{n \to \infty} ||Tx_n - x_n|| = 0$ exists. Let $\lim_{n \to \infty} ||x_n - x^*|| = 0$. If r = 0, Then by the continuity of T the conclusion follows. Now suppose r > 0. We claim $\lim_{n \to \infty} ||Tx_n - x_n|| = 0$

Now set $y_n = P[(1 - \beta_n)x_n + \beta_n T z_n]$. Since $\{x_n\}$ is bounded, There exists R > 0 such that $x_n - x^*$, $y_n - x^*$ and $z_n - x^* \in B_R(0)$ for all $n \ge 1$. Using Lemma 2.2, we have that

$$\begin{aligned} \left\| z_n - x^* \right\|^2 &= \left\| P((1 - \gamma_n) x_n + \gamma_n T x_n) - x^* \right\|^2 \\ &= \left\| P(1 - \gamma_n) x_n + \gamma_n T x_n - (1 - \gamma_n) x^* - \gamma_n x^* \right\|^2 \\ &\leq (1 - \gamma_n) \left\| x_n - x^* \right\|^2 + \gamma_n \left\| x_n - x^* \right\|^2 \\ &\leq (1 - \gamma_n) \left\| x_n - x^* \right\|^2 + \gamma_n \left\| x_n - x^* \right\|^2 - W_2(\gamma_n) g\left(\left\| T x_n - x_n \right\| \right) \\ &\leq \gamma_n \left\| x_n - x^* \right\|^2 + (1 - \lambda_n) \left\| x_n - x^* \right\|^2 \end{aligned}$$

From Lemma 2.2, it follows that

$$\begin{aligned} \left\| x_{n+1} - x^* \right\|^2 &= \left\| P[(1 - \alpha_n) x_n + \alpha_n T y_n] - P x^* \right\|^2 \\ &\leq \left\| \alpha_n (T y_n - x^*) + (1 - \alpha_n) (x_n - x^*) \right\|^2 \\ &\leq \alpha_n \left\| y_n - x^* \right\|^2 + (1 - \alpha_n) \left\| x_n - x^* \right\|^2 - W_2(\alpha_n) g(\left\| T y_n - x_n \right\|) \\ &\leq \alpha_n \left\| x_n - x^* \right\|^2 + (1 - \alpha_n) \left\| x_n - x^* \right\|^2 - W_2(\alpha_n) g(\left\| T y_n - x_n \right\|) \\ &\leq \left\| x_n - x^* \right\|^2 - W_2(\alpha_n) g(\left\| T y_n - x_n \right\|). \end{aligned}$$
(3.2)

Observe that $W_2(\alpha_n) \ge \varepsilon^3$. Now (3.2) implies that

$$\varepsilon^{3} \sum_{n=1}^{\infty} g\left(\left\|Tz_{n}-x_{n}\right\|\right) \leq \left\|x_{1}-x^{*}\right\|^{2} < \infty$$

Therefore, we have $\lim_{n \to \infty} g(\|Tz_n - x_n\|) = 0$. since g is strictly increasing continuous at 0. It follows that $\lim_{n \to \infty} \|Tz_n - x_n\| = 0$.

Since T is nonexpansive, we can get that
$$||z_n - x^*|| \le ||z_n - Ty_n|| + ||y_n - x^*||$$

Which on taking $\lim_{n \to \infty} \inf_{x \to \infty} ||x_n - x^*||$. On the other hand, we have

$$\begin{aligned} \left\| z_n - x^* \right\| &\leq \left\| (1 - \gamma_n) x_n + \gamma_n T x_n - (1 - \gamma_n + \gamma_n) x^* \right\| \\ &\leq \left\| \gamma_n (x_n - x^*) + (1 - \gamma_n) (x_n - x^*) \right\| \\ &\leq (1 - \gamma_n) \left\| x_n - x^* \right\| + \gamma_n \left\| x_n - x^* \right\| \\ &= \left\| x_n - x^* \right\| \end{aligned}$$

Which implies $\lim_{n\to\infty} \sup_{n\to\infty} \|z_n - x^*\| \le r$. Therefore, $\lim_{n\to\infty} \|z_n - x^*\| = r$ and so $\lim_{n\to\infty} \|\beta_n (Tz_n - x^*) + (1 - \gamma_n)(z_n - x^*)\| = r$ Since $\lim_{n\to\infty} \sup_{n\to\infty} \|Tx_n - x^*\| \le r$, it fallows from Lemma 2.1 that $\lim_{n\to\infty} \|Tx_n - x_n\| = 0.$

This completes the proof.

Reference

- [1]. F. E. Browder, Semicontractive and semiaccretive nonlinear mappings in Banach spaces, Bull. Amer. Math.soc 74(1968)660-665.
- W. J. Davis, P. Enflo, Contractive projections on l_p- spaces, Analysis at Urbana 1, Cambridge University Press, New York, 1989, pp. 151-161.
- [3]. J. Diestel, Geoery of Banach spaces- Selected Topics, Lecture Notes in Mathematics, vol. 485, Springer, New York 1975.
- [4]. J. G. Falset, W. Kaczor, T. Duczumow, S. Reich, weak convergence theorem forasymptotically nonexpansive mapping and semigroups, Nonlinear Aanl. 43(2001) 377-401.
- [5]. S. Ishikawa, Fixed points and iteration of a nonexpansive mapping in a Banach space, Proc. Amer. Math. Soc. 59 (1976) 65-71.
- [6]. S. Ishikawa, Fixed points by a new iteration method, proc. Amer. Math. Soc.44 (1974) 487-150.
- [7]. W. Kaczor, Weak convergence of almost orbits of asymptotically nonexpansive commutative semigroups, J. Math. Anal, 272 (2002) 565-574.
- [8]. W. Kaczor, S. Prus, Asymptotical smoothness and its applications, Bull. Austral. Math. Soc. 66 (2002) 405-418.
- [9]. T. C, Lim, A fixed point theorem for families of nonexpansive mappings, Bull. Austral. Math. Soc. 43 (1974) 487-493.
- [10]. W.R. Mann, Mean value methods initeration, Proc. Amer. Math, Soc. 4 (1953) 506-510.
- [11]. S. Reich, Weak convergence theorems for nonexpansive mappings in Banach spaces, J. Math. Anal. Appl.67 (1979) 274-276.
- [12]. J. Schu, Weak and strong convergence of fixed points of asymptotically nonexpansive mappings, Bull. Austral. Math. Soc. 43 (1991) 153-159.
- [13]. H. F. Senter, W. G. Dotson, Approximating fixed points of nonexpansive mappings, Proc. Amer. Math. Soc. 44 (1974) 375-380.
- [14]. W. Takahashi, T. Tamura, Convergence theorems for a pair of nonexpansive mappings, J. Convex Anal. 5 (1998) 45-56.
- [15]. K. K. Tan, H. K. Xu, Approximating fixed points of nonexpansive mappings by the Ishikawa iteration process, J. Math. Anal. Appl. 178 (1993) 301-308.
- [16]. H. K. Xu, Inequalities in Banach spaces with applications, Nonlinear Aal. 16 (1991)1127-1138.
- [17]. L.C. Zeng, A note on approximating fixed points of nonexpansive mapping by the Ishikawa iteration process, J. Math. Appl. 226 (1998) 245-250.
- [18]. B. Xu and M. A. Noor, Fixed point iterations for asymptotically nonexpansive mappings in Banach spaces, J. Math. Anal. & Appl. 267 (2002), 444-453.